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 Notes : 1. All questions are carry equal marks. 

 2. Solve any five questions minimum one question should be from each section-A. 
 

 

  SECTION – A (Theory)  
 

 

1.  What is meant by statistical quality control? Explain the characteristics and types of 

quality control. 

16 

2.  What are the components of time series? Explain the moving average method of estimating 

trend values. 

16 

3.  Explain different types of decision-making situations. 
 

16 

  SECTION – B (Problems) 
 

 

4.  From the table given below calculate the co-efficient of correlation between the ages of 

husbands and wives.  

Age of Husbands (y) 

Age of wives (x) 20 – 30 30 – 40 40 – 50 50 – 60 60 – 70 Total 

15 – 25 5 9 3 - - 17 

25 – 35 - 10 25 2 - 37 

35 – 45 - 1 12 2 - 15 

45 – 55 - - 4 16 5 25 

55 – 65 - - - 4 2 06 

Total 5 20 44 24 07 100 
 

 

16 

5.  A survey was conducted in respect of Marital status and success in examination out of 2000 

person who appeared for an Examination 80% of them were Boys and rest were Girl. 

Among 300 married Boys 140 were successful. 1100 Boys were successful among 

unmarried Boys. In respect of 100 married Girls 40 were successful 200 unmarried girls 

were successful. 

 Construct two separate Nine-square Table and find out coefficient of association to 

discuss the association between marital status and passing of examination. 
 

16 

6.  Set a table of analysis of variance for the yield of three straign of wheat planted in 

randomly blocks. 

 Straigns  

A 20 21 23 16 20 

B 18 20 17 25 25 

C 25 28 22 28 32 

5% value of F, all the given number and degree of freedom is 3.88. 

 

16 

7.  Among 64 off spring of a certain cross between guinea pigs 34 where red, 10 were black 

and 20 were white. According to the genetic model these number should be in the ratio 

9:3:4. are the data consistent with the model at the 5% level. 

 You are given that the value of 2x with its probability of 0.05 being exceeded is 5.99 

for V = 2 and 3.84 for V = 1. 
 

16 

8.  To find out the mean weight of girls student two independent sample of 100 each are taken 

which reveal no significant difference between the mean for the first sample the S. D. is 2.5 

c.m. While for the second it is 3.5cm. Test the significance of the difference between these 

two measures taking S. D. of the universe to be 2.85 cms. 

********* 

16 
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 Ôã îÞã¶ãã : - 1. ÔãÌãÃ ¹ãÆÎ¶ããâ¶ãã Ôã½ãã¶ã Øãì¥ã ‚ããÖñ¦ã. 

 2. ‡ãŠãñ¥ã¦ãñÖãè ¹ããÞã ¹ãÆÎ¶ã Ôããñ¡Ìãã, ¹ãÆ¦¾ãñ‡ãŠ ãäÌã¼ããØãã¦ãî¶ã ‡ãŠãä½ã¦ã‡ãŠ½ããè †‡ãŠ ¹ãÆÎ¶ã Ôããñ¡ãäÌã¥ãñ ‚ããÌãÍ¾ã‡ãŠ ‚ããÖñ. 

 

 

  ãäÌã¼ããØã `‚ã` 

 

 

1.  ÔããâãäŒ¾ã‡ãŠãè¾ã Øãì¥ã ãä¶ã¾ãâ¨ã¥ããÞããè Ì¾ããŒ¾ãã ‡ãŠÀã ¦¾ããÞããè Ëàã¥ãñ ‚ãããä¥ã ¹ãÆ‡ãŠãÀãÌãÀ ÞãÞããÃ ‡ãŠÀã. 

 

16 

2.  ‡ãŠãË½ããËñÞãñ Üã›‡ãŠ ‡ãŠãñ¥ã¦ãñ ‚ããÖñ¦ã? ¹ãÆÌãð¦¦ããè ½ãìÊ¾ããÞãñ ‚ããØã¥ã¶ã ‡ãŠÀ¥¾ããÞããè ºãªË¦ããè ÔãÀãÔãÀãè ¹ã£ª¦ããè Ô¹ãÓ› ‡ãŠÀã. 

 

16 

3.  ãä¶ã¥ãÃ¾ã ¹ããäÀãäÔ©ã¦ããèÞ¾ãã ãäÌããäÌã£ã ¹ãÆ‡ãŠãÀãÞãñ ãäÌãÔ¦ãð¦ã ãäÌãÌãñÞã¶ã ‡ãŠÀã. 

 

16 

  ãäÌã¼ããØã `ºã` 

 

 

  ƒâØãÆ•ããè ½ãã£¾ã½ãã¶ãìÔããÀ. 

 

 

  *************  
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 Ôã îÞã¶ãã†ú :- 1. Ôã¼ããè ¹ãÆÎ¶ããò ‡ãŠãñ Ôã½ãã¶ã Øãì¥ã Öõý 

 2. ‡ãŠãñƒÃ¼ããè ¹ããúÞã ¹ãÆÎ¶ã ÖË ãä‡ãŠãä•ã†ý ÖÀ ãäÌã¼ããØã ½ãñ Ôãñ ‡ãŠ½ã Ôãñ ‡ãŠ½ã †‡ãŠ ¹ãÆÍ¶ã ÖÊã ‡ãŠÀ¶ãã ‚ããä¶ãÌãã¾ãÃ Öõ ý 

 

 

  ãäÌã¼ããØã `‚ã` 

 

 

1.  ÔããâãäŒ¾ã‡ãŠãè¾ã Øãì¥ã ãä¶ã¾ãâ¨ã¥ã ‡ãŠã ‚ã©ãÃ ‡ã‹¾ãã Öõ? ÔããâãäŒ¾ã‡ãŠãè¾ã Øãì¥ã ãä¶ã¾ãâ¨ã¥ã ‡ãŠãè ãäÌãÎãñÓã¦ãã†ú †Ìãâ½ã ¹ãÆ‡ãŠãÀ Ô¹ãÓ› ãä‡ãŠãä•ã¾ãñý 

 

16 

2.  ‡ãŠãË½ããËã ‡ãñŠ ‡ãŠãÀ‡ãŠ ‡ãŠãõ¶ãÔãñ Öõ? ¹ãÆÌãð¦¦ããè ½ãîÊ¾ã ‡ãŠã ‚ããØã¥ã¶ã ‡ãŠÀ¶ãñ Öñ¦ãî ¹ããäÀÌã¦ãÃãä¶ã¾ã ‚ããõÔã¦ã ¹ã£ª¦ããè Ô¹ãÓ› ãä‡ãŠãä•ã¾ãñý 

 

16 

3.  ãä¶ã¥ãÃ¾ã ¹ããäÀãäÔ©ã¦ããè¾ããñ‡ãñŠ ãäÌããäÌã£ã ¹ãÆ‡ãŠãÀãò‡ãŠã ãäÌãÔ¦ãð¦ã ãäÌãÌãñÞã¶ã ãä‡ãŠãä•ã¾ãñý 

 

16 

  ãäÌã¼ããØã `ºã` 

 

 

  ‚ãââØãÆñ•ããè ½ãã£¾ã½ã ‡ãñŠ ‚ã¶ãìÔããÀý 

 

 

  *************  
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